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Name: 

Daily Word Problem

D-41 Counting Money; 
Operations with Money

Multi-
Step

answer: ____________________

Astrid has the following dollar bills and coins:

She wants to buy a shirt that costs $20. 
How much more money does Astrid need?

Show your work.



Daily Word Problem
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Name: D-42 Operations with 
Fractions

Multi-
Step

There are several racks of beach towels for sale at a store.

1/ of the towels have stripes. 3/1 have polka dots. 3/ have 
pictures of palm trees. The rest of the towels are plain blue.

What fraction of the towels are plain blue?

Show your work.

answer: ____________________

3
10

3
10

1
10

Write your answer as a fraction.



Daily Word Problem
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Name: 
Perimeter Single-

StepD-43

Mr. Hedgerow wants to put a fence around his rectangular-
shaped yard.

The width of the yard is 75 feet. The length is 125 feet.

How many feet of fencing does Mr. Hedgerow need?

Show your work.

answer: ____________________



Daily Word Problem
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Name: 
Operations Single-

StepD-44

Benito has a bucket that weighs 453 grams.

He filled the bucket with water. Then he placed the bucket 
on the scale and it weighed 4,989 grams.

How much did the water weigh without the bucket?

Show your work.

answer: ____________________



Daily Word Problem
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Name: 
Perimeter Single-

StepD-45

answer: ____________________

A football field is a rectangle that is 360 feet long by 160 feet 
wide. What is the perimeter of the football field?

Show your work.
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Daily Word Problem

ANSWERSD-41 through D-45

KH

answer: ____________________

A football field is a rectangle that is 360 feet long by 160 
feet wide. What is the perimeter of the football field?

Show your work.

Benito has a bucket that weighs 453 grams.

He filled the bucket with water. Then he placed the bucket 
on the scale and it weighed 4,989 grams.

How much did the water weigh without the bucket?

Show your work.

answer: ____________________

Mr. Hedgerow wants to put a fence around his 
rectangular-shaped yard.

The width of the yard is 75 feet. The length is 125 feet.

How many feet of fencing does Mr. Hedgerow need?

Show your work.

answer: ____________________

There are several racks of beach towels for sale at a store.

1/ of the towels have stripes. 3/1 have polka dots. 3/ have 
pictures of palm trees. The rest of the towels are plain blue.

What fraction of the towels are plain blue?

Show your work.

answer: ____________________

3
10

3
10

1
10

Write your answer as a fraction.

answer: ____________________

Astrid has the following dollar bills and coins:

She wants to buy a shirt that costs $20. 
How much more money does Astrid need?

Show your work.

$0.39 400 feet

1,040 feet4,536 grams

3
10 of the towels

10 + 5 + 4 = 19

75 + 75 + 125 + 125 = 400

360 + 360 + 160 + 160 = 1,040

.25 + .25 + .05 + .05 + .01 = .61
20 -- 19.61 = 0.39

4,989 -- 453 = 4,536
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